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5 X 4 (TS -FlﬂﬁfJ(:)o)ftEr‘ﬁﬁ jj(gr)uj/kf)é X 4 T‘“{éﬁ(ﬁ;“ .z.n%< jj(g')\;tﬁé R 4 .(Er,na; J:m;ﬁ(:)(btl:.a jj(;fifnié R 4 Llﬁﬁf)(z)@ttﬁ .(ES t(giatf)é
’ 100kN/mM##BZ % 1.00/ 000 ~ 3.67 159.48|3m%#8% 5[ 0.00 ~ 2.17| 3.98 20.13] 100kN/m%#B 2% 1.00| 1055 ~ 58.80 159.48|3m%#B% 5| 25.00 ~ 58.80| 3.98 20.13
TS 1.00| 367 ~ 11.46 100.00] Zh st | 217 ~ 11.46] 3.00 15.16 ZThLLSE 1.00] 500 ~ 1055 100.00f Zh it | 500 ~ 25.00] 3.00 15.16
9 100kN/mM#%#BZ % 1.00/ 000 ~ 333 153.41|3m%#E% 5| 0.00 ~ 1.99| 3.86 19.50| 100kN/m%#z % 1.00| 10.76 ~ 58.80 153.41|3m%#E% 5| 30.00 ~ 58.80| 3.86 19.50
ZThLS 1.00/3.33 ~ 11.11 100.00] Zh st |1.99 ~ 11.11] 3.00 15.16 Zh LS 1.00] 500 ~ 10.76 100.00| #h it | 500 ~ 30.00] 3.00 15.16
3 100kN/mM##8Z % 1.00/ 000 ~ 354 157.16|3m%#8%5%| 000 ~ 2.10| 3.93 19.88| 100kN/mM%E# 2z % 1.00| 10.60 ~ 56.65 157.16|3m%#E% 5| 30.00 ~ 56.65| 3.93 19.88
ZhLS 1.00| 354 ~ 11.33 100.00] #h st | 210 ~ 11.33] 3.00 15.16 Zh LS 1.00] 500 ~ 10.60 100.00| #hlist | 5.00 ~ 30.00] 3.00 15.16
4 100kN/mM#%# 8% % 1.00/ 000 ~ 351 156.59|3m%#8% 5| 000 ~ 208| 3.92 19.82| 100kN/m%# 2% 1.00| 10.62 ~ 56.88 156.59|3m%i#E% 5| 30.00 ~ 56.88] 3.92 19.82
ZThLS 1.00] 351 ~ 11.29 100.00] Zh st | 208 ~ 11.29] 3.00 15.16 Zh LS 1.00] 500 ~ 10.62 100.00| #hlist | 500 ~ 30.00] 3.00 15.16
5 100kN/mM#%# 8% % 1.00/ 000 ~ 253 139.70| 3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00/ 1151 ~ 36.78 139.70|3m%i#B% % = ~ = = =
ZhLS 1.00] 253 ~ 10.32 100.00] Z#hlist | 0.00 ~ 10.32] 2.89 14.58 Zh LS 1.00] 500 ~ 1151 100.00| Zh it | 500 ~ 36.78] 2.89 14.58
6 100kN/mM#%#BZ % 1.00/ 000 ~ 193 129.82|3mZi#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.69 ~ 35.78 129.82|3m%i#B% % = ~ = = =
ZThLS 1.00] 193 ~ 972 100.00] #hlist | 000 ~ 9.72] 279 14.09 Zh LS 1.00] 500 ~ 12.69 100.00| #h it | 500 ~ 35.78] 2.79 14.09
7 100kN/mM#%# 8% % 1.00/ 000 ~ 1.74 126.76|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 12.64 ~ 28.10 126.76|3m%i#B% % = ~ = = =
Zh LS 1.00]1.74 ~ 953 100.00] Z#h st | 000 ~ 953| 270 13.62 Zh LS 1.00] 500 ~ 12.64 100.00| #h it | 500 ~ 28.10] 2.70 13.62
8 100kN/mM##BZ 5 1.00{0.00 ~ 1.74 126.76|3m% 8% % -~ = = -| 100kN/MZE#BZ % 1.00| 12.64 ~ 28.10 126.76|3m%EB %% = ~ = = =
Zh LS 1.00]1.74 ~ 953 100.00] Z#x st | 000 ~ 953| 270 13.62 Zh LS 1.00] 500 ~ 12.64 100.00| #h it | 500 ~ 28.10] 2.70 13.62
9 100kN/mM##BZ % 1.00/0.00 ~ 1.77 127.13|3m%#BZ % -~ = = -| 100kN/ %8z % 1.00| 1206 ~ 24.14 127.13|3m%E#B %% = ~ = = =
Zh LS 1.00]1.77 ~ 955 100.00] Z#x st | 000 ~ 955 243 12.28 Zh LS 1.00] 500 ~ 12.06 100.00| Zhlist | 500 ~ 24.14| 243 12.28
10 100kN/mM##BZ % 1.00{0.00 ~ 232 136.17|3m%EHE %% -~ = = -| 100kN/ %z % 1.00| 10.82 ~ 2260 136.17|3m%E#B %% = ~ = = =
Zh LS 1.00] 2.32 ~ 10.11 100.00] x4t | 000 ~ 10.11| 257 13.00 LS 1.00] 500 ~ 10.82 100.00| Zh kit | 500 ~ 22.60| 257 13.00
11 100kN/mM##BZ 5 1.00{0.00 ~ 232 136.17|3m%EHE %% -~ = = -| 100kN/MZE#BZ % 1.00| 10.82 ~ 2260 136.17|3m%E#B %% = ~ = = =
Zh LS 1.00] 2.32 ~ 10.11 100.00] x4t | 000 ~ 10.11| 257 13.00 Zh LS 1.00] 500 ~ 10.82 100.00| Zh it | 500 ~ 22.60| 257 13.00
12 100kN/mM##BZ % 1.00{0.00 ~ 2.16 133.48|3m%EHE %% -~ = = -| 100kN/ %8z % 1.00| 11.06 ~ 22.60 133.48|3m%E#B %% = ~ = = =
Zh LS 1.00] 216 ~ 9.94 100.00] #x st | 000 ~ 994| 253 12.78 Zh LS 1.00] 500 ~ 11.06 100.00f Zh st | 500 ~ 22.60] 253 12.78
13 100kN/ M 8% % 1.00] 0.00 ~ 142 121.63|3m%Z#BZ5| - ~ = = -| 100kN/i%i#B % % 1.00| 12.65 ~ 22.48 121.63|3m%i#Bx % =~ = = =
Zh LS 1.00] 142 ~ 921 100.00] #h st | 000 ~ 9.21] 239 12.10 Zh LS 1.00] 500 ~ 12.65 100.00| Zh it | 500 ~ 2248| 239 12.10
14 100kN/mM%#8Z % 1.00] 0.00 ~ 0.97 11455|3m%#BZ5| - ~ = = -| 100kN/i%#B % % 1.00| 12.68 ~ 18.06 11455(3m%i#B% % =~ = = =
Zh LS 1.00] 097 ~ 875 100.00] #x st | 000 ~ 875 2.10 10.60 Zh LS 1.00] 500 ~ 12.68 100.00f Zh it | 500 ~ 18.06] 2.10 10.60
- 100kN/mM#Z#8Z % 1.00] 0.00 ~ 0.23 103.31|3m%Z#BZ 5| - ~ = = -| 100kN/iZ#B % % 1.00| 15.67 ~ 17.36 103.31|3m%i#B% % =~ = =
LS 1.00/0.23 ~ 8.01 100.00] #4#Li4t | 000 ~ 8.01| 201 10.17 ZThLst 1.00] 500 ~ 1567 100.00f Zh it | 500 ~ 17.36] 2.01 10.17
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16 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00] 000 ~ 748 95.53] #hList 000 ~ 7.48] 1.93 9.78 ZThLLSE 1.00] 500 ~ 11.46 95.53] Zhulst | 500 ~ 11.46] 1.93 9.78
17 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00{0.00 ~ 6.71 84.71] #huis 000 ~ 6.71| 157 7.92 Zh LS 1.00|] 500 ~ 9.17 84.71] Fhklst | 500 ~ 917 1.57 7.92
100kN/mM##8Z % ~ ImEHEZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM#%# 8% % ~ ImEHEZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM#%# 8% % ~ ImEHEZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM#%#BZ % ~ ImEHEZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM#%# 8% % ~ ImEHEZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZFhn st ~ ZFh st ~ Zh st ~ Zzh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ ZFh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ ZhLst ~
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhn st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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